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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3

BflE) | GEBRMK @) | ERE(ERH/R | EREE (/R [ XS EFRF

06:30 357 150.0 0.593 5| FHHEAQ06:30 KENFEF (RAMEEEE)
07:10 357 150.0 0.593 5| FHEA@O7:10 KENFEF CGRAIEREE)
08:30 357 150.0 0.593 | FHAe08:30 KENIEFE (RAMEESE)
09:25 357 150.0 0.593 F(  FiHAe09:25 KREFEF CGRAERE)
10:10 357 150.0 0.593 5| FHEA@10:10 KENFEF CGRAMEEEE)
10:50 357 150.0 0.593 F|  FEAe10:50 KEIEFE CGRAMFESE)
11:30 357 150.0 0.593 F|  FRHR@11:30 KEFEF (FRAMERER)
12:05 357 150.0 0.593 s FHER@12:05 KENFEF (RAHEEEE)
12:40 357 150.0 0.593 F  FHAe12:40 KEIEFE CGRAMFESE)
13:15 357 150.0 0.593 F(  FiHRe13:15 KRHEFEF CGRAERESE)
13:55 357 150.0 0.593 | FHAe13:55 KREFEF (KA
14:35 357 150.0 0.593 5| FHAe14:35 KEIEFE CGRAFESE)
15:15 357 150.0 0.593 & FiHfe15:15 KRFIEF CGREAERKS)
16:00 357 150.0 0.593 5| FHRe16:00 KENFEF CGRAEES)
17:00 357 150.0 0.593 F  FEAe17:00 KEIEFE CGRAMFESE)
23t]5355.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

#HERECE (2178.0 vs 4755.0) 35
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P3

BTiE) | EBIATK (D) | EHRE (EH/HK) | ERERE (B/R) | KR EFRF

08:15 357 150.0 0.593 5 B2i%@08:15 B3h (FkAIEREE)
08:55 357 150.0 0.593 & B21%@08:55 B3zh (FKABIEREE)
09:45 357 150.0 0.593 5 B218@09:45 Bz (KRBEREE)
10:35 357 150.0 0.593 & B218@10:35 Bz (KRBERESE)
11:15 357 150.0 0.593 & Bige11:15 Bzh (RAEREEE)
11:55 357 150.0 0.593 5 Bige11:55 Bz (RBERE)
12:35 357 150.0 0.593 & BRi&e12:35 Bzl (KRBERSE)
13:15 357 150.0 0.593 B Bi%@13:15 Bzh (RAERE)
13:50 357 150.0 0.593 5 B2i8@13:50 Bz (REERE)
14:25 357 150.0 0.593 & BRige14:25 Bzh (KRBERKSE)
15:05 357 150.0 0.593 B BRi%e15:05 B3h CGREEREE)
15:45 357 150. 0 0.593 & Ri%e15:45 Bz (GRAERSE)
16:35 357 150.0 0.593 = B2i8@16:35 Bz (KRBEREE)
17:35 357 150.0 0.593 B FiTe17:35 Bzh CGREEERE)
21t 4998.0 (14)%) 2100.0 323 &KEC: 2080.0, PH: 6.5

large discrepency for begining water status (79:255.0),

RE X i3 Bl HECEUIR SR L.

#H[ERECE (2199.0 vs 4633.0) 15
REXRFEBLIHHEREC/PHETR KL, FIREINIRADR R

set to 79 ml.
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P3

BYiE) | GEBRAK ) | ERE(EA/K | EREE B/ R [ XS R

06:30 484 150.0 0.593 FA| {Ri%@06:30 Bz (kAEESE)
07:30 484 150.0 0.593 [Z=| 1BRiBe07:30 Bzh (KREEREE)
09:10 484 150.0 0.593 |&=| 1Ri%e09:10 Bz (REEZERE)
10:30 484 150.0 0.593 |Z=| 1Ri%e10:30 Bz (GREERSE)
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12:25 484 150.0 0.593 | =| 1Ri%e12:25 B (GGREEZERSE)
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21t 4840.0 (10)%) 1500. 0 723 %EC: 2080.0, PH: 6.5

EREBRRTC R IRAEE ZIY (900 vs 357.0))
ZRINLPRIERE378. 0 ml.
H#E[ERECE (2207. 0 vs 4458.0) 135
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

06:45 469 150.0 0. 593 5| {Ri&e06:45 Hzh (REAERESE)
07:25 469 150.0 0.593 S| {Rige07:25 B (KRAERSE)
08:15 469 150.0 0.593 E|  {Rige08:15 Bzl (RE{ERZE)
09:05 469 150.0 0.593 El 1BRi&@09:05 Bz (RFAEREE)
09:50 469 150.0 0.593 =l RRi8009:50 B (FRFAEREE)
10:30 469 150.0 0.593 =l RRi80@10:30 Bz (RAEEE)
11:05 469 150.0 0.593 =l {Rige11:05 B3 (REAEDSE)
11:40 469 150.0 0.593 S {Rige11:40 Bz (GRAERSE)
12:15 469 150.0 0.593 =l Rige12:15 Bz (REAEEE)
13:00 469 150.0 0.593 =l {Ri%e13:00 B3 (RFAERSE)
13:40 469 150.0 0.593 F BRige13:40 Bz CGRAEREESE)
14:15 469 150.0 0.593 =l Rige14:15 Bz (REAEREE)
14:50 469 150.0 0.593 =l RiB@14:50 Bzh (REAEEREE)
15:30 469 150.0 0.593 El 1BRi&@15:30 Bz (GRAEREE)
16:10 469 150.0 0.593 =l RiB016:10 B3 (REAEEE)
17:00 469 150.0 0.593 =l RiB@17:00 B3 (REAEEE)
21| 7504.0 (16)%) 2400. 0 32 3KEC: 2080.0, PH: 6.5

EORGEBRBT R IRAR LY (180 vs 357.0))

ZRIALPRIERE76.0 ml. N
FEERECE (2193.0 vs 4228.0) 35




P3_0, Day=64 (2025-06-08)
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